..... 2012..01r 13593 ....2.30... 5 Lod. Bl e B L Dby L Al Bike D Lom o ¢S5 B30yl

09 Sldall sde

Al galll Aglay)

L) ; .
b - t S oY) Alludll ¢ J 1 £ guda gall
P 1
@ C 5 F,
v A B E'IB
T w
| | |
0.25 b S st sl b=2n-3 b=7, n=5 =2.(5)-3 ol easli ]
s JWaYl 59, Gl 2
3%0.25 >Fi=0 , Y Fly=0 .Y Mg=0
Hg =34KN,Vg =-29KN,V ,=29KN
Nap (B st J5e) 1 adsidl 631 ol 3
D0 i) Ol
0.5x2 sy Tang(a)=1 — 0=45°
P 2. Fly=0
-29+Npp . SIN(45)=0 (1)
Npp=141.02KN (us)
> F/x=0
-34-Na-N gp COS(45)=0 (2)
NBA e +5kN (45)
(A sl J )
0.5x2 B 3 F/x=0
Nag + Nap COS(45) =0 — Nup=-7.07KN (1)
29 > Fly=0 (Plasaity
E 294NAcHN ap . sin(45)=0 (2)

NAC = -24KN (Pl

186

9 (1 daia




07

0.5x2

0.5x2

0.25x4

0.25x4

0.25x2 |

(C sdiall |J 569

F/x=0
C NCD=% (1)
> Fly=0
NcE=Nca =24 KN (bl
r S F/x=0 E i 3¢ )
- 24+Ngp % 0.707 =0(1), Ngp=+33.94 KN (i)
& 4 Y. F/y=0
~Ngc-N gp* 0.707=0 (2)
C 24-24=0
D
Aaplal (KN) 2¢all 4o gl Sia)
A 41.02 Ngp B
Jaleal 7.07 " Nap A
Jalaail 24 Nac
/ 0 Necp C
Llaua 24 Nce
A% 33.94 Nip E
0=N/S<o -4
208.92 daN/cm?<1000 daN/cm?
o=e.E=(AL/L).E , =3
AL=(N.L) / (S.E)=0.15mm
- sagal Al
Yi /C]  Judl a5 b1
A’% 3,00 / 1,00 /%B
VA ’ VB

YF/x=0 —>HA=0
- 2Fly=0 -V ,+Vp—-(2x3) =0
VA+VB= 6KN
>M/A=0 — Vi =2.25KN
>M/B=0 -V, =3.75KN

187)

9 (2 Aadea




01.25

01.25

0.5

elalyl aje g adaldll gl : cVilea 482
0<X<3 :(1-1) adaial
T(x)=3.75-2X —»T(0)=3.75KN ,T(3)= —2.25KN

Mf(x)= 3.75X-X* — Mf(0)=0 , Mf(3)=2.25 KN.m

A

T

T(x)=-2.25 KN (et
Mf(x)= 2.25X —> Mf(0)=0
Mf(1)=2.25 KN.m

0<X<3
T(x)=3.75-2X =0 x=1.875m
Mf{imax)= 3.52KN.m

-

9 (3 dada




05

0.5

0.5

0.5

0.25
0.5

0.75x3
0.5

Y Yy ¥ A A A 4 r y
A A B
3,00 1,00 77
K
VA VE
0,00
; _2J2‘5| “2{25
m 88 |
0,00 |
! 5; ga,ou
3,:52
X __ _
(m) | o . 1,88 | |
) alilll) Mgl Gl =5

03.5

LoV 2645.333 cm®

O max= Mgmax xV/ Lx=55.78 daN/cm?
;AN Al

Gkl ciliaaYl ABC Gbiddl dabua cilua

== [ZLHLH-FI sin Gn+1 Gn )]

S =5[0A XOB $in(Gg —Goy ) +OB xOC sin(Gy ~Giy ) +OC x4 sin(Goy ~Gie )|

N =—1-[32.5x72.15sin(135-65.5)+72.15><28.455in(185.5-135)+28.45x32.55m(65.5-185.5)j

S =§~6§—3—E =8 =1332.15m*

189

9 ¢4 daduo




04.5

0.25x3

0.5

0.5x6

0.25

0.25x3

(190

thagd Sl Aliual)

bop el il g -
deadli~45 Al —2 Ay =1
s hisall el Agacie
(gm)“@%Lﬂ\A@
(s o 08 )sloa Jole ®
(24) A gda N Boliae u.:.ln@

Mid&um.h@

velall 4,_1.:\.55&.10:‘\.}@45]! g8

1Y & g gall

Sl 354 lua .1
SF/x=0 —H,=0
SF/y=0 —V,+Vp—(2x50)-15-30(5)==0
~ Va+Vp=265KN
SM/A=0 — 50(4)-15(1)+30(5)x1.5 — Vx4 =0
Vg =102.5KN
SM/B=0 —- 50(4)-15(5)-30(5)x2.5 + Vx4 =0
Va=162.5KN

9 a5 daia




02

02

0.5

sladY) aje 5 adlil) gl | cialea 48,2

t (1-1) adaial
F;
y l(q
e
1T,
oz ¥ 7
/4 v

0<Xsl1
T(X)=-15-30x—>T(0)=—15KN ,T(1)=-45KN
Mf(x)=-15x-30x%/2— Mf(0)=0 , Mf(1)=—30KN.m
t (2-2) abadal

s
A 4 A 4 h 4 Y h 4
lT

1<X<5

T(x)=-15-30x -50+162.5>T(1)= +67.5KN ,T(5)=-52.5KN
Mf(x)=-15x-(30x%/2) -50(x-1)+162.5(x-1)—> Mf(1)=- 30KN.m , Mf(5)=0
¥l a3
1<X<6  T(x)=+97.5 -30x =0—> x=97.5/30=3.25m
Mf(3.25)=-15x-(30x2/2) -50(x-1)+162.5(x-1)= 45.94KN.m
Mf(max)= 45.94KN.m

__ _ 191 |




07

0. 5x2

0.75

192

F, F, q FS
Y Y / L 4
¥ 3 v h 4 v A y r r
W?B
(1,00 4,00 X
]
‘ VA VB
67,50
0,00 0,00
0,00
-15,00& |
-45,00 _52:50
X
1 S _ 3,28
i ' LT
30,00 ’
0,00 j
0,00
45,94
X |
(m L} L8 3025

s aliall sl aaat 4

Omax= Mymax xV/ L 1600 dalN/em?
Lodv 2191.66 cm®
IPE 200 585 dsdad) Oa
L/v=194 cm®

9 a7 dada




05

0.25

0.5

02

02

0.25

0.5x2

1Al Al
YSwsigals b=2n-3  b=7, n=5  7=2.(5)3 el e s1

: Jbu‘)“ 243, N N

YFA=0 , Y Fly=0
Hp=0KN , Vp=V,=25KN
s it (g 4d ol 3
D = A e
O aedh ol
Tang(a)=1 — 0=45°

2. Fly=0
+25+Nap . SIN(45)=0 (1)
Nap =-35.36KN (doleazail)

> F/x=0
NactN ap COS(45)=0 (2)
N ac = +25kN (25)
D s J )
> Fiy=0
E -25- Npc SIN(45)- Npa SIN(45)=0 (1)
Npc =0 (&)
> F/x=0
C +NDE. + NDC COS(45) NDA COS(45) =() (2)
Npe =-25KN (Plaaily
tdalieadl lua
6=Nyp /S <o,
$=2.21cm’

i
Gag= 0=400g -1
Gag=300g -2

== 193]




04

0.25x3

0.25x4

0.25

0.5

0.5

0.25x4

0.25x%5

1.00

10.25x3

AX,, =200.00-240.00 = —40.00

% " G, =300gr -1
AY ,; =100.00-100.00 = 0.00m
AX ;o =225.00-240.00 = ~15m
AY ;o =—40m = g, =2284gr =G, =222.84gr
a=G,, -G, >a=T]16gr s )

: (ACB) 4akid)) dabluwa -3
S =2 XX, pa v
1
S(ACB) '_'E[XA(Y B_YC)+XC(Y A"’YB)"'XB(Y C"YA)]

hY

(4CBY =

%[240(1 00 — 60) +225(100 —100) + 200(60 —100)]

1 1600
S ics) = 52—[9600 +0-8000]= 5= :

(5% 04 ) ior J 4S5 Lt y3: dap J ALY
o JS gl S5 a3 s 1
DY Ciatl @
Al G lall
35 Gl o
inb i Gl
ng ! G5l o0
:‘;9.3;1'.‘.;4._.-,.4:.1& )
SUaY) Cnall 40
J gVt Caall 60
aldh Canall %
CIE Cazall o3¢
ol anall %
SNl 3 A e s dodaedl i W a s o8 1 RS 2
alal ) ae Ul — bl de Y — LAl ae - o Lgel o

04 1 94“"‘
9 9 daia




	1
	2
	3
	4
	5
	6
	7
	8
	9

